3/8 — 16 x 1" socket hd bolt PT # 30050
mount alt. Relocator to alt. ALTERNATOR BRAC KET

Note: mount bolt from rear. ™

-— 3/8 - 16 x -1 ¥4" socket hd bolt
w/ 3/8 =16 locknut

7116 x 6 V2" socket hd bolt
w/ .2560 spacer to

5/16 — 18 x 4" socket hd bolt
mount to head

mount adjustment rod behind
N\ __alt bracket then .750 spacer

# 30050-A
Brkt Body

5/16 — 18 x 6" socket hd bolt” i/

w/ 2.150 spacer .
\‘l !

When it comes to quality performance starting and charging, March Performance is the brand you can depend on.



https://www.carid.com/performance-starting-charging.html
https://www.carid.com/march-performance/

